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OdgHlI= =828 Al 23
1,712,342,000& » 14 1,712,342
OF2:=H HA A
132,000,000 * 14 132,000
Hol2e 288 =22 411,837 255,7% 156,041
101 e124d| 17,110 16,266 844
M ORNZZ2NSE S 17,110 16,266 844
OHMEHDI|IZ2 SESFI| ZAGaEX EH 17,110
k== 76,9603 *12H+2002 16,392
-=2Hs 15,392,0002 *4. 5% 693
—2ZEE= 15,392,000 *3.545% 546
ISR 546,000 %12.81% 70
-1ELE 15,392,000 *1.75% 270
~SHEE 15,392,000& 0. 9% 139
201 er2 3| 115,580 43,780 71,800
01 AtR2te|HI 22,080 24,780 A2,700
OUEHII2 di(2et) #F ==&
6003 #5,00021 3,000
OS2t M 60,0002 900N 5,400
Omle =8SI| 2oz M=
350, 0003 *20H 7,000
O34A=8 78 3,000,000& %14 3,000
OUEHIISHE AEIH MH
500,000 *14] 500
OmHJle 8% == SEdl
8,000 +6E~10 480
OUEMEHIIS HiH(2etel) AOIE |
2l 2,700,000& %14 2,700
02 S22l 81,500 19,000 62,500
CHllZ2 285 ZAS SEEX ]|
100,000 80K A 8,000
OHs +=Hxel 3,000,000 x5& 15,000
OHIELOI0 == HXi el 300,000 *35& 10,500
OgxIHII=Z fI&Xel
400,000& x120= 48,000
03 A2 Y] 12,000 0 12,000
OXNEHEE KA
12,000,000 * 14| 12,000
206 M=l 109,197 73,800 36,397
01 MZH| 109,197 73,800 35,397
OSSN sSFMH 109,197
-5L 302 *140,0000H 4,200
-10L 402 +150,0000H 6,000
-20L 603 %500, 0000HK 30,000
-50L 130& *180,0000H 23,400
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2A:

A M}

HEH: EHADD
Cel: HIlS2el EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-750 1533 %249,0000HK 38,097
-100L 250 *30,0000H 7,500
207 ARl 20,000 27,000 AT7,000
01 14| 20,000 27,000 A7,000
OSASF HII=S 2dM A4 ot
= 10,000,000 * 14! 10,000
OdEN =olHDI= Xl FALN EIIS
A 10,000,000 * 14| 10,000
301 EtE N = 700 700
14 DBt 2 a3 700 700
Odll Zats 700
-HOIE 801 A0 Zas
30,0002 102 300
“HDIE 2EA D ZA3
20,0002 1024 200
-1883 flEt AL Zas
10,0002 %1024 100
BIEJI2X=z 0lkls dOEAs
10,0002 10 100
401 Al HIZL S 0HYI 105,000 80,000 25,000
01 Al&HI 105,000 80,000 25,000
Od&HDI= dotAlE ZX
6,000,000 * 1001 £ 60,000
OsZEHHId =S80ty 2+
3,000,000 *15J1 £ 45,000
405 AtatE = 44,250 14,250 30,000
01 Tt =S F=SH 44,250 14,250 30,000
ongsg zels=Hg 7
650,000& * 157K 9,750
OHEZS(HAEX) =el+=He 2L
300,000& %154 4,500
OdemIl= 2 Xl g 7Y
30,000,000 1CH 30,000
Hol2e 288 =23 160,000 29,500 130,500
[ 48,000
T 112,000
201 er23 | 140,000 0 140,000
= 42,000
= 98,000
2 s5=34l 140,000 0 140,000
OgsHJI= =HXel Xd
350,000 »400= 140,000
S 42,000
o 98,000
405 AtatE = 20,000 29,500 29,500
[ 6,000
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FA I
PSR B EASE el

Cel: HIlS2el (EEEE))

SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2

H

14,000

01 A ESFH SHI 20,000 29,500 29,500

500,000 *407K 20,000
6,000
14,000

M

AEIIoH 2 AMICHH 4,700 2,000 2,700
940
3,760

M H

301 LENZ 4,700 2,000 2,700
940
3,760

M

14 JIEt2 a3 4,700 2,000 2,700
OA ol HICHE 4,700,000 ~1H 4,700

940
3,760

M

=dI0IE XMel ¥ HEAY 1,206,240 1,234,740 /28,500
603,120
180,936
422,184

HoH A

401 AIEHIZL 2 OHY] 1,206,240 1,234,740 28,500
603,120
180,936
422,184

Mo A

01 AlZHI 1,206,240 1,232,740 A\26,500

FEHSP0IE ™MeldIXK(12H)
3,520,0002 *4S 119,680

59,840
17,952
41,888

Mo A

OFESY0IE HelHIXR(eAA)
3,520,0002 *4S 119,680

59,840
17,952
41,888

Mo A

O=HS0IE MeldlXI&(3HY)
3,520,000 «34S 119,680

59,840
17,952
41,888

A

OFE=0IE HalbI XA (42 )
3,520,000 +34S 119,680

59,840
17,952

SAREY




2A:

B2 M D}

Hu: mApe
Cel: HIlS2el EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 41,888
O=EH=dI0I1E Ml X (53=)
3,520,000 «34S 119,680
= 59,840
= 17,952
o 41,888
EEL IS EEEIGEES
3,520,000 «4AS 119,680
= 59,840
< 17,952
2 41,888
OZS=0IE HEIHIXH(7A)
3,520,000& «34= 119,680
s 59,840
s 17,952
s 41,888
OFEHSY0IE MeldlX(82Y)
3,520,000& 33 116,160
= 58,080
== 17,424
2 40,656
OBI=E4Z3|0IE H2lHI X2 (200 )
5,400,000& 135 70,200
= 35,100
< 10,530
[Ea 24,570
O=EXIE Nl XNF(1AH)
6.,280,000& *15& 94,200
= 47,100
< 14,130
T 32,970
OZEXIZ Ml KR (H)
6.,280,000& *14= 87,920
= 43,960
& 13,188
= 30,772
SSdoty #EXH 25,000 17,949 7,051
= 7,500
[Ea 17,500
401 AIEHIX R0 25,000 17,949 7,061
= 7,500
s 17,500
01 AlZ28| 25,000 17,949 7,051
OsEZEHHIE =S8ty &5
5,000,000 *5JH 2= 25,000
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2A:

B2 M D}

Hu: mApe
Cel: HIlS2el EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 7,500
s 17,500
e otalatE A x4 88,000 0 88,000
= 26,400
Ea 61,600
401 AIEHIX R0 88,000 0 88,000
=S 26,400
s 61,600
01 AlZ28| 88,000 0 88,000
OOy eraletaal =4
1,000, 0002 «88H 88,000
< 26,400
T 61,600
MR =gtdlE 2t 4,474,346 4,495,165 220,819
= 32,500
[ 16,250
T 4,425,5%6
METR=HEH 24 1,911,833 708,709 1,203,124
101 @124H| 145,601 140,567 5,034
03 SRH(RINAHA) 222+ 53,644 52,731 913
OHPISMIAL(EE) 2242 53,644
-Jl2s 64,4002 «12+3652 23,506
A =y 2,955,000 *42] 11,820
-Hg¥el=g 60,0002 * 122 720
-REE 19,8543 x 1 *10AI 2H= 123 2,383
-AlI2tel ==& 19,842 x 1 *20A[ 2+ 123 4,765
2 HIHS 64,4002 x40%+ 7' 122 2,164
“WSE2 x| 140,000 ~ 128 1,680
-g A ZAH| 140,000« 12& 1,680
-SESOt| 1,141,000& x1H 23] 2,282
RPN y= ) 64,4002 x1& 10 644
N EEH RS, 500,000% x 12 *43] 2,000
M ORNZZ2NSE S 91,957 87,836 4,121
OmlIE2(MeEs) d¢ 91,957
= 76,9603 x5 215 82,732
-=2H3 82,732,000& 4. 5% 3,723
A k= 82,732,000& *3.545% 2,933
- QYEE 2,933,000 *12.81% 376
-1ELE 82,732,000 *1.75% 1,448
~SHEE 82,732,000& 0. %% 745
201 fer23| 698,900 372,500 326,400
01 AtR2t2|HI 37,500 356,500 2,000




FA SFAY
M HABE
ool dEldsstdE2e] (CHol: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Odit=3=H| 37,000
—METNASEHE 245 9X W
10,0002 +80 800
~METEEEE A28 2879
800,000& * 122 9,600
-~HE A =HE EBA =8
26,000,000& » 14 26,000
-2H & 0lI8+=+2 300,000 22 600
OHJISHMelAL(HEE) 2g2el TS|
500,000 x1H =13 500
02 S52g4l 661,400 337,000 324,400
ORFHl 1,400,000& «12& 16,800
OAlI2EHIR X 2,800,000& ~12& 33,600
OAZHAU(SRH) =42
3,000,000& %14 3,000
OmolE ?8Xe === 490,000
-OiEelx 20,0002 %2, 000K 40,000
M| | 400,000 *30=+30& 360,000
-HEgmoli= 90,000
- HI=TH 150,000 x200= 30,000
- Hgrd ==X 300,000 x200& 60,000
OHJISXM2RE= 110,000,000& * 14| 110,000
OUEHIIZ 22AIE SRS
4,000, 00091 524! 8,000
206 M=l 21,750 20,250 1,500
01 M=4l 21,750 20,250 1,500
OdE =8t HaSHEd =9 7Y
14,5002 *1,500H 21,750
207 ARl 100,000 100,000
01 H1E4H] 100,000 100,000
SEEFEGI e 84
100,000,000 *14] 100,000
301 EtE NS 3,600 3,600
14 JIEt2 a3 3,600 3,600
Odg =2l SHZAE 2s2d=
100,000& 32+ 123 3,600
WM HSEE=S 5,982 5,792 190
M SRA(RIAL) 22N EE=RE=s S 5,982 1,346 4,636
Oo=gig=z 2,414
-HOISXSAE(0IEE) 2322
53,644,000& 4. 5% 2,414
@kt 1,902
-HOISXEAE(HEE) 2922
53,644,000 +3.545% 1,902
O RLES 244




FA SFAY
Hu: mApe
el MBS 2l (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
“HOI2HRIAIE (R E) 222
1,902,0002%12.81% 244
OunE=2s 939
-HOIS Ml AL (HEE) 2d2¢2l
53,644,000 *1.75% 939
OLEE 483
-HOISXSIAE(0IEE) 2322
53,644, 00024+0. B 483
401 AlEHIL 2] 936,000 166,000 770,000
01 Al&H| 936,000 166,000 770,000
OHJIZ HAlL =79
5,000,000 *14 5,000
OA2AAIE HHIAY 30,000,00024 14} 30,000
OMZAIE FHIAY 100,000, 00024+ 14! 100,000
ONBER HEE ANSRRIBA(ZS)
51,000,000 »14! 51,000
OdEHIIZ 2ZAE HatE WA
750,000,000& *14] 750,000
MEHI|IS A2AE 2Y 2,497,513 2,270,456 227,057
307 lztol & 2,497,513 2,270,456 227,057
05 2IHRIE S 2,497,513 2,270,456 227,057
OMEHIIE AZAE 2% 2129
2,497,513,000& *14] 2,497,513
Hees SEME NI 65,000 0 65,000
= 32,500
= 16,250
o 16,250
101 @124H| 65,000 0 65,000
= 32,500
& 16,250
= 16,250
M ORNZZE2NSES 65,000 0 65,000
OoMEEs SEME XA 65,000
-Jl=s 76,9603 x5 * 120 46,176
= 23,088
== 11,544
= 11,544
-AXt=E 76,9603 x5 H 6 2,309
= 1,185
= 577
= 577
-=2H3 48,484,800& 4. 5% 2,182
= 1,091
S 545
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SN BN
Hu: mApe
el MBS 2l (SH9 H2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
[ 546
2HAEE = 48,484,800& *3.5% 1,697
= 848
& 424
[ 425
- RLEER 1,697,000& *12.27% 209
= 105
& 52
= 52
-IEEE 48,484,800 *1.75% 849
= 425
& 212
= 212
MHEE 48,484,800& 0. % 437
= 218
& 110
= 109
-t &Y 11,141,000 3 * 14! 11,141
= 5,570
& 2,786
= 2,785
MEIR=2EEH FHAY X3 16,399 0 16,399
METREEHIE FH0E XIJ 16,399 0 16,399
101 2124l 16,399 0 16,399
M IIZINZ22 NS Es 16,399 0 16,399
OFCIRIZAE F=CIZARE 16,399
|22 153,671 x2H x4 x 12F 14,753
=03 14,753,000 *4. 5% 664
2ALEE 14,753,000 *3.545% 523
AL E 523,000& *12.81% 67
-IEEE 14,753,000& *1.75% 259
—MTHEE 14,753,000& 0. 9% 133
=JH2el 1,965,783 2,279,700 A313,917
= 1,701,789
= 263,994
B (AN SLSIA) 256,994 495,648 A238,654
= 193,000
= 63,94
BEIIZANE2G (== M) 21,740 36,740 A 15,000
= 20,000
= 1,740
101 2124 d| 5,131 12,3%6 NT,265
=) 4,719




A SER4D
LSRR
ol SEEHE(SEINESESIH) (o9 =)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
[ 412
M IIZINZ2Z2 NS Es 5,131 12,3%6 AT,265
OFETHHE 22| 5,11
I (FEAY EE)
76,9603 x 1860 4,618
= 4,248
= 370
=03 4,617,600 *4.5% 208
=) 191
[ 17
2H2AEE = 4,617,600& %3.5% 162
= 149
= 13
“HIIQYEEE 161,616&*12.27% 20
= 18
= 2
-1E8528s 4,617,600 *1.75% 81
= 74
[ 7
“HEE = 4,617,6002 *0. %% 42
= 39
= 3
201 LB-2AH| 16,609 22,604 Ab5,995
=) 15,281
= 1,328
01 At=R2teld| 16,609 624 15,985
O==Z At 26,0003 #4 Il 2 x63 624
= 574
[ 50
=ZMEHE 2FHAY Y
15,985,000 14! 15,985
= 14,707
= 1,278
HIEQANZAIE2H (IBSX) 11,955 7,610 4,345
=) 11,000
o 955
101 2124t 4,706 6,357 A1,651
= 4,331
= 375
M IIZNZ22 NS Es 4,706 6,357 A1,651
OelE&Xl &2 4,706
-CIAH(=F 2 ZE)
76,9603 «1«552 4,233
= 3,8%4
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A SER4D
LSRR
¢l EBH(SEINLSLESIA) (CH9: /M)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
[ 339
=03 4,232,800& %4 . 5% 191
= 178
= 13
-2HAEE=E 4,232,800& *3. 5% 149
= 137
= 12
-HIIRYEEE 148, 14831 %12.27% 19
= 17
= 2
-IE8E 4,232,800&*1.75% 75
= 69
= 6
—NTHEE 4,232,800 +0. % 39
=) 36
= 3
201 B2 AY| 7,249 643 6,606
= 6,669
= 580
01 At 2elt] 7,249 312 6,937
O==Z A 26,0002 x2J A~ +6F 312
3 287
2 2
OQIBEX HFXY 8
6,937,000& * 14! 6,937
= 6,382
[ 555
N=SZLHEAIE 22l 32,400 32,400
201 Let23H| 24,000 24,000
02 32| 24,000 24,000
OINSAHERS NEEH HADAl 2
22| 22,000,000 14! 22,000
Oxt&=2| S|
2,000,000 *14] 2,000
206 =4l 8,400 8,400
01 M=zl 8,400 8,400
OIEE2s AHMAM 7L
120,000& 705 8,400
QAESTTAC/(HSAZAIE 2LIEHEY) 11,000 28,900 A17,900
= 11,000
207 AR Y| 11,000 28,900 A17,900
= 11,000
01 A1 E9H| 11,000 28,900 A17,900




FA S Y
LSRR
gel: S (SENESLS) (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OQgszal WENZANL LY 29
11,000,000& * 14 11,000
= 11,000
YA LSS (0/HEIIEA) 32,000 44,310 212,310
= 32,000
207 ARl 32,000 44,310 12,310
= 32,000
01 A1E4H| 32,000 44,310 12,310
O=Z+H 2852 0188t 4
32,000,000 * 14 32,000
= 32,000
o=@ B39 2e| 147,899 141,688 6.211
= 119,000
Ea 28,899
101 @12A4H| 147,899 141,688 6,211
= 119,000
o 28,899
02 JIEtME = 147,899 141,688 6.211
OJIEHAE=(3lE) 143,579
-JlZ2s 4,100,000 «2E 12 98,400
= 69,501
s 28,899
-X LN &bl 98,400, 0002 *3% 2,952
= 2,952
-g2=g 98,400,000 1/12+23|+50% 8,200
= 8,200
-AIRI 225
13,0002 x2& *20A1 2t 122 6,240
= 6,240
-IEE (B2 40,0003 %221 123 960
= 960
-JtE=g (018 40,0002 *221x 12 960
= 960
-HJI2552(264 014)
130,000& %22/ 123 3,120
= 3,120
- A G A 140,000 2+ 122 3,360
= 3,360
-EE=0Hl 98,400,000 *1/12+60%+23] 9,840
= 9,840
-2 4|
98,400,000+ 1/12+x202 /30 5,467
= 5,467
=N 170,000 x2& * 122 4,080
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FA S Y
LSRR
gel: S (SENESLS) (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 4,080
OZ 048l 180,000& x2&* 123 4,320
= 4,320
FUNBAL (+EMASE3IH) 1,708,789 1,784,052 AT5,263
= 1,508,789
s 200,000
e[ 38 XA 1,271,389 1,279,627 A\8,238
= 1,271,389
101 @12A4H| 19,653 22,042 A2,389
= 19,653
M ORINZZ2NSE S 19,653 22,042 A2,389
OFo=XdEH 2 (3ee) 19,653
-QIAdl(FR+E Z8)
76,9603 * 12 +2292 17,624
= 17,624
-=2H=s 17,623,840 4. 5% 794
= 794
-ALLEE= 17,623,840 *3. 5% 617
= 617
“HIQYEEE 616,835 %12.27% 76
= 76
-UEEEE 17,623,840 1.75% 309
= 309
“MHEE = 233,000 %14 233
= 233
402 QI”F X201 & 1,251,736 1,257,585 25,849
= 1,251,736
02 I ESASEZ(0IETHR) 1,251,736 1,257,585 25,849
OM%A2INA ZYXIAAL
1,251,736,000& x14] 1,251,736
= 1,251,736
2e|HE FRRA(SEXY) 400,000 448,500 48,500
= 200,000
[Ea 200,000
401 Al HIZL S 0HYI 400,000 0 400,000
= 200,000
= 200,000
01 Al&H| 400,000 0 400,000
O3gd ded sty & duHsa
I 400,000,000 * 14 400,000
= 200,000
Ea 200,000
XS AHE=TAEHE S 5,400 5,400 0
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FA S Y
LSRR
SH9l: FRIKIB ALY (SRINLSSE3IH) (choy: @2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 5,400
202 048l 5,400 5,400 0
= 5,400
01 2LHoIH 5,400 5,400 0
O=2XNHAS N8
20,0002 x22H*135& 5,400
= 5,400
FOIXEMY JI=ltg 2l & 3 32,000 28,525 3.475
= 32,000
101 21AH| 30,400 26,181 4,219
= 30,400
MU IIRINZZE2NSES 30,400 26,181 4,219
OF2XAANE JI=XtE 2t 30,400
sl 76,9603 x1H+355 27,321
= 27,321
-=2Hs 27,320,800 *4. 5% 1,230
= 1,230
-HLEE= 27,320,800 +3. 5% 957
= 957
-HIIRAEE= 956,228 *12.27% 118
= 118
-UEEEE 27,320,800 *1.75% 479
= 479
~MIHEEE 295,000 *14] 295
= 2%
201 eer23| 1,600 2,344 NT44
= 1,600
01 Al 22| 1,600 0344 N
OZVXAAL MEN &% SIISBR
4,000 4005 1,600
= 1,600
oHMEH AlZ 2|2 E2AIEH F& 195,366 201,284 25,918
= 67,150
S 23,522
= 104,694
eHM e AlZ 2|2t E24IHM =8 195,366 201,284 25,918
= 67,150
S 23,522
[Ea 104,694
2EA X 4,000 4,000 0
201 2egh=3| 4,000 4,000
01 At22t2lt] 4,000 4,000
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FA S Y
Hu: oI AEDRIY TSACH M
Chel: OtMEH AlZ2e|2t ZE2A/HH F& (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ONLIOIZIAIR B
50,0003 x4 x123] 2,400
= 1,200
Ea 1,200
AZOHE Al & US(0El & =l S) 5,258 5,258 0
= 2,629
o 2,629
201 2= 1,796 1,79% 0
= 898
T 898
2 s3=234l 1,7% 1,7% 0
OBEEIREY SM2
37,4162 401~ 122 1,796
= 898
[Ea 898
202 04| 2,622 2,622 0
= 1,311
s 1,311
01 =LHOLI 2,622 2,622 0
ORg=gaMsE S ©5 43,7003 »602] 2,622
= 1,311
T 1,311
301 EtE NS 840 840 0
= 420
[Ea 420
14 DBt 2 a3 840 840 0
ORSAE =H2d 16,8002 502 840
= 420
o 420
SESAICIE A 15,000 16,000 A1,000
== 5,550
= 9,450
201 er2 3| 15,000 16,000 21,000
= 5,550
= 9,450
01 At2teltl 15,000 16,000 21,000
OESAC =4 & 245t N
15,000,000 * 14 15,000
= 5,550
o 9,450
SA2=Hid 14,500 18,500 24,000
[ 5,800
Ea 8,700
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(OFSPIFS1a|FE == paag=d 80,000 122 960
2 35284 15,142 14,942 200
OHEANE S&2= £ MA 12,142
-HIes 800,000 * 12 9,600
-dotrEes 120,000& 122 1,440
olI=L&ER=s 8,800& 12& 106
—TAE TV 2HHE 218 2=
83,0002 123 9%
OHSAIE AIE€EbBI=AbI
3,000,000 *14] 3,000
301 22N 1,500 1,500
11 AALAEIXIES 1,500 1,500
OEIFAEHE2 A2 & A
50,000& *30H 1,500
307 212t01 & 2,000 2,000
02 2B YAIHE X 2,000 2,000
OHENT H2LLAZUES| F0}
2,000,000& 2,000
401 Al HIZ R 0HbI 15,000 15,000
01 AlZ28| 15,000 15,000
OHSAE M= 25 RAE+SA
15,000,000 * 14 15,000




2A:

HH: AQITIE
Selr NUZMELst (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
AZOHLIA X1 (XA 55,095 26,5% 28,501
101 @124H| 55,095 26,5% 28,501
M ORNZZE2NSE S 55,095 26,5% 28,501
O&SAIE LI 55,095
-Jl2s 76,9603 x2EH +322 49,563
=83 49,563,000 *4. 5% 2,231
-AL 2 49,563,000& %3.55% 1,760
“AIRYEE 1,758,0002 %12.81% 226
-1IELE 49,563,000&*1.75% 868
“CHHEE 49,563,000 0. %% 447
HSANE =XHE 22 55,095 55,005
101 e/24d| 55,095 55,095
M ORNZZ2NSE S 55,095 55,095
OXSAE =X 12t E== 55,095
-Jles 76,9603 x2H 322 49,563
-=2H3 49,563,000& *4. 5% 2,231
-AY L 49,563,000& *3.55% 1,760
-HIIRLES 1,758,0002%12.81% 226
-1ELE 49,563,000& *1.75% 868
~SEE 49,563,000& 0. %% 447
HEAE BiEE<0 =29 52,752 25,080 27,672
= 15,826
o 36,926
307 @I2t0| & 52,752 25,080 27,672
== 15,826
o 36,926
02 LB HAHE L 52,752 25,080 27,672
OESAY a0l 29
52,752,000 * 14| 52,752
= 15,826
= 36,926
HEAE S HSH 5,306 11,555 N\6,249
S 2,106
o 3,200
307 @120l & 5,306 11,555 N\6,249
== 2,106
o 3,200
06 28= 5,306 11,555 26,249
OHSEAE FMSH It X
5,306,000 * 14 5,306
== 2,106
= 3,200
Q2= Ottt 29 7,080 5,840 1,240
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SN B
MM MRS

Selr NUZMELst (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 2,080 1,840 240
2 52484l 2,080 1,840 240
OXcl=Z OtdaEAl &JIes
90,0003 x 122 1,080
OAI2 &= X 1,000,0002 %14 1,000
206 M=l 5,000 4,000 1,000
01 M= HI 5,000 4,000 1,000
OLcl=Z! OFdstEX 242 5,000
=02 2 ZM P 4,000,000 14 4,000
-ElHl S M 2 1,000,000 %14 1,000
SItoHE 5,760 12,900 AT,140
301 EetE2 NS 5,760 5,760 0
14 JIEt2as 5,760 5,760 0
OSJot ZLIHA ddI24
120,0002 x4 x 122 5,760
aafEel K 100,000 100,000
307 glztol & 50,000 50,000
08 OIXtE2& = 50,000 50,000
OAdE82 0IXE2dHS K&
25,000, 000& »23] 50,000
402 2IZtA=01d 50,000 50,000
01 QI X2 AL E R (KM TH) 50,000 50,000
OAd32 BHNE XA
5,000,000 *100H 2~ 50,000
24E0 SlYHAS NSAE 4,200 4,200 0
[ 1,176
T 3,024
307 lztol & 4,200 4,200 0
= 1,176
= 3,024
02 2B HAIAE & 4,200 4,200 0
Oa430 sgFAz(tRMSH) X
10,0002 x35& + 122 4,200
= 1,176
o 3,024
gdE Aotz A 6,890 0 6,890
& 2,756
Ea 4,134
301 2eEN=S 6,890 0 6,890
= 2,7%
= 4,134
14 IIEt2d3 6,890 0 6,890
OXgHE Aaz0l X3
6,890,000 14 6,890

_88_




2A:

NE: deiEs
Selr NUZMELst (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 2,756
s 4,134
ZxEE2 42 (XHA) 1,580,120 861,008 719,112
201 er2 3| 263,120 826,200 /563,080
01 Al 221 b 263, 120 826,200 563,080
OZzES A4ZH B 222 (NFE)
2,000,000,000&*0. 8% 16,000
OZx=E2 452 8d ===2(XF¥)
15,000,000,000& +0. 8% 120,000
OZEEES AED AHIA 018 £42(31C
&) 10,000,000,000& *1. 1% 110,000
OZxE2 o434 24
2,000,000 %14} 2,000
OZZE2 A4EH SHRAALY 018 %
== 45,0002 x28 24+ 12 156,120
301 EtE NS 1,317,000 1,317,000
14 JIEt2d=3 1,317,000 1,317,000
OZEPSIC ZH+HE XL
3,000,000 *0.25%+1,3000H A 123 117,000
OZzEe A4EH 2BAEY|
12,000,000, 000& *10% 1,200,000
EHetAga 243 NJA 12,300 0 12,300
= 3,690
= 1,845
o 6,765
201 etz 3| 12,300 0 12,300
= 3,690
= 1,845
Ea 6,765
01 AtR2t2|HI 12,300 0 12,300
O=eIIHYL NASE 7Y
820,000 x150 A+12] 12,300
= 3,690
= 1,845
o 6.765
NS ASH LT XIH) 141,100 0 141,100
s 23,500
s 117,600
301 EtE NS 141,100 0 141,100
[ 23,500
Ea 117,600
14 JIEt2 8= 141,100 0 141,100
OZxz=E245d 88|
1,411,000, 0002 *10% 141,100
= 23,500
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SN B
MM MRS

=Rl A2IZNEdst EEREE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| | = 117,600
ASmeged™ 34,000 78,000 A\44,000
EXstaxy 10,000 12,000 /2,000
203 =] 10,000 12,000 A2,000
03 A=A 2= 10,000 12,000 22,000
Ol - A8 &F =
4,800,000 4,800
OXNS 3N g4zt g2 =&
1,300,002 1,300
OMUZH= AMADER
3,900,000& 3,900
SHAE B2 US 24,000 45,000 221,000
201 2= 2,000 15,000 A13,000
01 At2t2lt] 2,000 15,000 A13,000
OS2AY &€ X2
2,000,000& *14] 2,000
207 ARl 22,000 30,000 28,000
01 1= 22,000 30,000 /8,000
O3ZAY g€= 89 22,000,000 * 14 22,000
OIHAl et 2 B8 e 706,880 703,122 3,798
= 13,500
Il 118,875
= 254,790
o 319,715
LIPS 706,880 703,122 3,758
= 13,500
J| 118,875
=S 254,790
s 319,715
B =EHES A 360,000 235,200 124,800
< 180,000
[Ea 180,000
402 212 X201 & 360,000 235,200 124,800
& 180,000
= 180,000
02 QIZEXHZ AL E X (01X TH& 360,000 235,200 124,800
OHIE == 23
1,200, 000& *3007++* 360,000
= 180,000
[Ea 180,000
=8 HEE XA 16,000 33,000 A17,000
== 6.400
[Ea 9,600
402 2I2E X201 & 16,000 33,000 A17,000




2A:

X XH -
o=

P
OIUX ™ & 5 e
o

s oIl et (SH9 H2)
SA - B GR(31) - HIRAY - BES ol &k G o HlmS2
= 6,400
= 9,600
02 I T2 AIE B (OIETH 16,000 33,000 A17,000
O S8 & EXIAE
400,000 *40kW 16,000
& 6,400
i 9,600
LEA FHIY XJAGOI2X2AY) 77,300 57,300 20,000
| 77,300
301 LetEEZ 20,000 0 20,000
| 20,000
14 JIEt2 43 20,000 0 20,000
OF el =0 AZZ XX
20,000,000 * 14! 20,000
| 20,000
402 BIZHR=0l A 57,300 57,300 0
| 57,300
02 PIIHZ AN 2 X (OIH TR 57,300 57,300 0
Oprs2l Dl2FR FY|
1,100,000 *14] 1,100
| 1,100
o=tz oi2dd &3 2
11,000,000 14| 11,000
| 11,000
O==cl 0222 2|2g8d
9,000,000 14 9,000
| 9,000
O2eel DI2EP 55
18,100,000& * 14! 18,100
| 18,100
Ougeel HERF 2l2Ys
18,100,000& 14! 18,100
| 18,100
FHAHS HUXISK AL 39,410 96,860 A57,450
| 26,600
= 3,840
= 8,970
401 AIEHIZL 28I 4,610 50,000 A45,39%0
| 2,300
= 690
= 1,620
01 AlEHI 4,610 50,000 A45,39%0
O=XA4 LEDAE WAL
4,610,000& x 14! 4,610
| 2,300

_91_




g

A RS
mo: OUK OE W 22 M
s HIUR oA (ct9: &
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 690
s 1,620
402 2I2F X201 & 34,800 46,860 212,060
Jl 24,300
< 3,150
= 7,350
02 QI X2 AL EE(OIHTHE) 34,800 46,860 A12,0680
ONMASE LBDXE WHAS
34,800,000 x 14 34,800
Jl 24,300
[ 3,150
T 7,350
LPGEI| AFEIT AIEHE ALE 33,000 16,400 16,600
= 13,500
< 4,050
Ea 15,450
403 X SHMSAH=01H 33,000 16,400 16,600
= 13,500
s 4,050
s 15,450
02 S 2SOt et = & 2 €A ] 33,000 16,400 16,600
OLPGEI| AEItT A& ALY
225,000& 1200t 27,000
= 13,500
=S 4,050
s 9,450
OLPGEI| AFZIHF AIEIHE A (ZHIFIOHR
g§2) 6,000,000 6,000
Sas0 e 2EaAtY 80,000 116,000 236,000
= 32,000
Ea 48,000
402 2IZtA=01d 80,000 116,000 /36,000
S 32,000
o 48,000
02 BIENZASEZ(0IETHR) 80,000 116,000 236,000
OFesIt HEE 25AY
400,000 *200kW 80,000
[ 32,000
T 48,000
AITHAOIL X 2O E AMY 29,950 0 29,950
Jl 14,975
[Ea 14,975
401 A& HIX R0 29,950 0 29,950
Jl 14,975
— 92 —




FA ZHEE
Z: olHX erd
=0 FIV | [E PN RRCIES|

o
)
for
x
=
{I
=
1%
)=
0X
Jo

Ofl &F2H

HMEE
Ofl &k2h

H

14,975

OSz=EHANZ A EHSBETAIE &R

OSABATRL HAVLHAL &3

OXOIBAHAN 2 A BHUASFAIAE AX|

ONZ2ATEL HARUTAIL &X

OletEANZ A EHLBETAIE &I

5,990,000 * 14!

5,990,000 « 14!

5,990,000 * 14!

5,990,000 14!

H

5,990,002 14!

H Y

29,950

5,990
2,99%
2,99%

5,990
2,99
2,995

5,990
2,99%
2,99%

5,990
2,99
2,995

5,990
2,99%
2,99%

29,950

M H

71,220
28,500
42,720

71,220

M

71,220
28,500
42,720

71,220

400, 1123 *178kW

M

71,220

71,220
28,500
42,720

71,220

A

—

,991,260
116,750
265,000
495,409

, 114,101

—

1,787,711

203,549

MO

—

,991,260
116,750
265,000
495,409

, 114,101

—

1,787,711

203,549

SV ESEION

2dH =24

H0

134,000

128,700

5,300

307 212401

b

(i}

134,000

128,700

5,300
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2A:

E M

X=]

AN R 2D
08 =X L OF

= =< O

Dghtel ¥E

SA - ZE . BR() - HRAR - BES of v G o HIDE2
05 2ItRIE = 134,000 128,700 5,300
OESRUNBHNAME 2
134,000,000 * 100 A 134,000
S3TENY 267,461 265,244 2,217
101 2I24H| 267,461 265,244 2,217
04 JIZtNZ2 2N SE+ 267,461 265,244 2,217
OS2 2AIE 2124| 267,461
-Jl=s 57,7203 x25EH =130 187,590
-2 OHHI 3,0003 25 130! 9,750
-5, gi=g 57, 720325 «30! 43,290
-=2H3 240,630,000 *4. 5% 10,829
-ZEE= 240,630,000 *3.545% 8,531
“HIQYEEE 8,531,000& *12.81% 1,093
-lIE2E= 240,630,000 *1.75% 4,212
“MHEE = 240,630,000 0. 9% 2,166
NASSHLI2IAIS (M EALY) 166,815 184,358 N17,543
= 100,089
o 66,726
101 21AH| 161,741 177,776 16,035
== 97,044
o 64,697
M ORNZZ2NSE S 161,741 177,776 16,035
OXNSSSHL A2 161,741
k== 9,620 *9Z 2094127 50 & 135,715
= 81,429
= 54,286
- 0isl 3,0002 «9E =22 «7 .54 2 4,455
=S 2,673
s 1,782
-Axt==g 76,9602 x0H 8 5,542
< 3,325
= 2,217
-AUES 145,712,000& *11% 16,029
= 9,617
o 6,412
206 M=l 5,074 6,582 1,508
== 3,045
o 2,029
01 MHZHI 5,074 6,582 1,508
OAgZ=aESE 78 5,074,000 * 14 5,074
< 3,045
= 2,029
=0l HEBZZ ALY 237,601 27,080 210,521




2A:

M

B D8 21 U ok
Chelr gxtel ¥E EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
101 @124H| 21,201 21,201
M ORINZZE2NSES 21,201 21,201
220 HEBIZZAME JI2HM B 21,201
gl 76,9603 1 »240 18,471
-2ZEE 19,071,000 *3.55% 678
-HIIRLES 678,0002 %12.81% 87
-=0H=s 19,071,000 4. 5% 859
-1ELE 19,071,000& %1.75% 334
S EE 19,071,0002 +0. 9% 172
-2yl 100,000 x 12 *3IH 2 +23] 600
201 Ler23 | 99,000 6.480 92,520
01 At2t2ltl 99,000 6,480 92,520
O30 HEZZ2AMY BS=4 2T
6,000 x25ZH+90 2 *23] 27,000
O2A=0 HEZZAMY BIA X2
400, 0002 «00 L <22 72,000
301 22N = 117,400 13,400 104,000
09 AP =ENYI 5,400 5,400 0
O2A=¢el HEZZ A AUES2E MFHI
0,000 1&*3IH 2 <22 5,400
14 IIEt2 8= 112,000 8,000 104,000
A=0l HEZZ AL (23 32 N
200,000 *100E <22 40,000
O2=¢el HEZZAY &iE2gE X
80,0002 x 1502 *3H 2 +23] 72,000
AR AE=Z A XA (AZ2) 302,592 367,484 A64,892
< 148,608
= 153,984
307 212t01™ 284,272 0 284,272
= 133,608
= 150,664
02 2B HAIAE & 284,272 0 284,272
O AESA XJ(AMZ2Y)
284,272,000 x 14 284,272
= 133,608
o 150,664
308 AFAIEHMSOIE 3,320 2,587 733
07 AX 2L FE= 3,320 2,587 733
OMAHE UEZAL AHEEE AIZRES(
ZHIFIIREE) 3,319,070 14] 3,320
402 2I2F X201 & 15,000 0 15,000
= 15,000
02 BIINEASEX(0IETHR) 15,000 0 15,000
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2A:

M

B D8 21 U ok
el 2l &= EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OMAR La=AL Kzt
15,000,000 * 14 15,000
= 15,000
MAMA AEZIA HEQIR2S =8 K 10,000 0 10,000
= 10,000
307 @12t0| & 10,000 0 10,000
== 10,000
04 CIZHHAMAIRH 2 & 10,000 0 10,000
QdLtY LEZA HERI2S =4 XA
10,000,000 * 14 10,000
= 10,000
dMatA & 2IgXAL 29 198,890 190,640 8,250
= 99,445
Ea 99,445
101 @12A4H| 184,365 176,115 8,250
S 92,183
o 92,182
04 JIZtN2 2N S+ 184,365 176,115 8,250
OdarE e 2IgXI& et JI2HHl 2= 184,365
ekl 76,9603 x0H 189! 130,909
< 65,454
s 65,455
-2 15,0002 x32»154& 6,930
= 3,465
[Ea 3,465
-=gls 137,839,000 4. 5% 6,203
== 3,102
[Ea 3,101
-AYL2E 137,839,000 *3.55% 4,894
= 2,447
= 2,441
“HIQRYEE 4,894,0002*12.81% 627
= 314
o 313
-UEEE 137,839,000 *1.75% 2,413
< 1,206
= 1,207
~SEE 137,839,000& *0. 9% 1,241
= 621
Ea 620
-GS0l 1,207,000 x9S 10,863
== 5,431
o 5,432




2A:
PSER
o e

el

AN R 2D
08 =X L OF

= =< O

il &

4

S - BE - BI(3) - NRAY - BAS

n

Ofl &F2H

HMEE
Ofl &k2h

HEES 11,465,000 * 14

M H

M

8,820
4,410
4,410
11,465
5,733
5,732

201 =3

A H

14,525
7,262
7,263

14,525

14,525,000 x 14!

M

14,525

14,525
7,262
7,263

14,525

S=E TA2ZEX XNZAH

M

16,484
4,945
11,539

16,484

307 212t01&

A H

16,484
4,945
11,539

16,484

16,484,000 x 14!

M

16,484

16,484
4,945
11,539

16,484

M

82,560
41,280
41,280

98,020

N15,460

M H

82,560
41,280
41,280

98,020

A 15,460

82,560,000 & x 14!

M H

82,560

82,560
41,280
41,280

98,020

15,460

Moo

320,000
240,000
56,000
24,000

320,000

307 212t01™

Ao

320,000
240,000
56,000
24,000

320,000
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2A:

M

B D8 21 U ok
Chelr gxtel ¥E EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 2IHBHAIHE £ 320,000 320,000 0
OMEIZIIY U2 HEA (LUHE 2012
) 320,000,000 * 14 320,000
= 240,000
< 56,000
= 24,000
ASIEIIS APl KR AH 80,037 75,737 4,300
= 56,000
[ 16,821
T 7,216
307 lztol & 80,037 75,737 4,300
= 56,000
== 16,821
o 7,216
02 LB HANHEE 80,037 75,737 4,300
OAEIZII2 AN XIR AL
80,037,000 * 14| 80,037
= 56,000
s 16,821
s 7,216
0201 SEME(EX) 50,000 50,000 0
= 25,000
=S 5,000
s 20,000
307 21201 & 50,000 50,000 0
[ 25,000
= 5,000
[Ea 20,000
02 QIZHEAAEE X 50,000 50,000 0
Obr=71g FEdAE 50,000,000 x 14 50,000
[ 25,000
= 5,000
o 20,000
2l SHSAIN gRF 3,500 3,500
201 fet= 3| 3,500 3,500
01 AtR2tc|HI 3,500 3,500
OLX2INEER 20N | 2 M2
3,500,000& %12 3,500
MBI EI Y XD ESHAL 15,000 30,000 A15,000
= 10,500
= 4,500
201 er23| 15,000 0 15,000
= 10,500
[Ea 4,500

8




2A:

M

B D8 21 U ok
Chelr gxtel ¥E EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 15,000 0 15,000
OAIHI1E XIHSstAr
15,000,000 * 14 15,000
= 10,500
Ea 4,500
NSNS HEHL XA 13,400 5,100 8,300
= 6,500
= 2,070
Ea 4,830
301 EtE2 NS 5,000 0 5,000
= 2,500
= 750
= 1,780
01 ARRIEEHSFS(RNEERTH) 5,000 0 5,000
OXNSERAAE FHLACIAIY HEE
5,000,000& *14] 5,000
= 2,500
= 750
= 1,750
307 elzto| & 8,400 5,100 3,300
= 4,000
& 1,320
= 3,080
02 2B YA E X 8,400 5,100 3,300
OXNSEXNFE FELACIAES
8,400,000 14 8,400
= 4,000
< 1,320
s 3,080
ARIEZ MDY X 2,000 3,000 21,000
301 EtE N = 2,000 3,000 A1,000
11 #AIAMHIXIE S 2,000 3,000 1,000
Otgal S HAMSIIEH X2
400,000 *59H At 2,000
Y dXiel Al (NSEFE FEE) 20,000 38,848 18,848
= 10,000
[Ea 10,000
307 212+01& 20,000 38,848 18,848
= 10,000
= 10,000
02 2B YA E X 20,000 38,848 18,848
OJ1g&dads LAelArg dEIZ
20,000,000& * 14 20,000
= 10,000




FA BHEE

B D8 21 U ok
el 2l &= EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| = 10,000
NS HHAFT LRSIAr 70,920 0 70,920
= 33,750
= 11,151
Ea 26,019
307 gl2to| & 70,920 0 70,920
= 33,750
= 11,151
= 26,019
02 2B YA E X 70,920 0 70,920
OISl HEFE UTf2IAY
70,920,000 * 14 70,920
= 33,750
= 11,151
= 26,019
AHEA 2d E 29 5,434,531 6,962,259 N1,527,728
= 1,906,000
= 750,000
o 2,778,531
AOIESE B3 - SHAY 47,428 304,868 N257,440
AOIESE 25 - 2HAIY 47,428 304,868 N257,440
308 AHAIEHMSOIE 47,428 304,868 A257,440
11 S| 2SO0 UeZB XA AIE 47,428 304,868 A257,440
OANESY #&EXE 28,888
P E 6,088,000 * 104 2 6,088
-0&E35t 20,000,000 *1IH 2 20,000
-A0IER SEdat ALE
2,800,000 * 104 2= 2,800
OxJI8E ANESH 2FXE
18,540,000 * 104 2 18,540
s3HI 2 (s3HX=d2eISE35H) 76,600 98,600 ~22,000
S3HA A4 2l 76,600 98,600 22,000
201 er23 | 6,600 6,600 0
2 52434l 6,600 6,600 0
Os3HAl &JIes 550,000& 122 6,600
401 AIEHIX R0 70,000 92,000 22,000
01 A28l 70,000 92,000 22,000
Os&EHA FAZ2 A
50,000,000& »14! 50,000
OssHl 22 =ESA
20,000,000 * 14| 20,000
UBHMAET] T ¥ 2e|(LEAUHTELHAILSE 4,310,503 2,705,900 1,604,603
)
= 1,906,000
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2A:

M

M NIT FH U 2
Tl UBRAACHR] =& Y 2te| (LB TS AILS S E3I) EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 2,404,503
oA TR 2 362,400 430,200 AT7,800
201 fet=23y| 48,200 90,200 A42,000
01 AtR2tc|HI 5,000 47,000 242,000
ON&&EHl SXU2(1E)
5,000,000 =14 5,000
2 S5=24g4l 43,200 43,200 0
O=E24EX &IIes
2,500,000& ~12& 30,000
OFS2SFLEAE H)|Ie=
1,100,000 12& 13,200
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2N SHI
B =0 A As)
Sl NSNS YES U ABHX S (el m2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
EETEICES R E=NE=EEY
1,020,000 *54ha*50/100 27,540
~¥oIE 58 YE
94,500% *54ha*50/100 2,552
-gHxE E= MK
225,000% «54ha*50/100 6.075
iz YWE KK
400,000 *54ha*50/100 10,800
NEE 200144 X 122,300 122,300
307 gl2to| & 115,200 115,200
02 QIZtEAAEE X 115,200 115,200
OLZE 20/484H K& 115,200
-20/MHE dSdlE
1,500,000 *24ha*23] *50/100 36,000
-Q0IHHE 0lgfLA
1,500,000& *24ha*42|+50/ 100 72,000
-“L0/ME s88 FAE N
4,800, 000:& *3ha*50/100 7,200
402 2I2FX=201H 7,100 7,100
01 IR SASE X (XHMITHR) 7,100 7,100
OLNEE 20144 X2 7,100
-20[XI=0 8,000,000 *1. 25ha*50/100 5,000
-Q0IEHE SEA=FII
1,400, 0002 *3CH*50/100 2,100
1SE Otsda X2 179,848 177,160 2,688
307 21201 & 132,160 132,160 0
02 LB AANHEE 132,160 132,160 0
OLNZZ Ot=dat X2 A 132,160
-Ot=sd8Hlg 1,200,000 *76ha*50/100 45,600
SINFE FY HIR
1,700,000 *76ha*50/100 64,600
-Ols M=X(HE, SARE)
720,000 +61ha*50/100 21,960
402 212 X201 & 47,688 45,000 2,688
01 QI X2 AL E R (KHMITHE) 47,688 45,000 2,688
OLSZ Ot=dat XI3AL 47,688
-IEE OFsMADIBIELRIA (AT Z)
4,792,000 *3ha*50/100 7,188
-DEE OtsdaDB R LRI (SE2E)
7,000,000& *33+50/100 10,500
-1IZE Ol=MHS darddl X
5,000,000 *12CH*50/100 30,000
USE Ul XA 3,850 3,600 250
307 elztol & 3,850 3,600 250
02 2IZHBYAIHE A 3,850 3,600 250
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B =0 A As)
Chol: XGsAE BESH L +EE 84 (Shol: % 2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OgutiiE dstls K&
700,000 * 11ha*50/100 3,850
USE HiFAL XA 190,892 188,100 2,79
307 gl2to| & 175,500 175,500 0
02 QIZHEAAEE X 175,500 175,500 0
OLNSE ti=dat X& 175,500
-Hi=THuE dSdlE
1,200,000 *90ha*22] *50/100 108,000
-BH=S A0S X
750,000 *90hax23] 50/ 100 67,500
402 2IZtA=01d 16,392 12,600 2,79
01 QI XHZ AL E R (K THE) 15,392 12,600 2,792
OLNSE ti=dat X2 15,392
-ANSSAE 1,800,000 *4CH+50/100 3,600
-AngEd 4,792,000& *2ha*50/100 4,792
-Sg2d 7,000,000& x23+50/100 7,000
USE Ui XA 621,403 621,403
307 gl2to| & 621,403 621,403
02 QItEAAEE X 621,403 621,403
OLNSE UMLK H 621,403
LS 85,0502 *2, 000 A+50/100 85,050
-HAEE 160,000 *1,5085+50/100 120,640
-FI8dl= 8,500& *550ha*75%+50/ 100 175,313
-sdgdblE
8,400 450ha*602L+50/100 113,400
- del2E s
2,000,000 *127ha*50/100 127,000
UEE UL XA 101,625 36,000 65,625
307 glztol & 101,625 36,000 65,625
02 2B YA E X 101,625 36,000 65,625
ODER DEMUHDEHE SS =X
o) A 4,800,000& *15ha*50/ 100 36,000
OL= Jlsd skt XEA
1,875,000 *70ha*50/100 65,625
DFHIDIE MHIAIE K& 22,000 106, 100 A84,100
Jl 8,800
s 13,200
402 QI”F X201 & 22,000 106, 100 284,100
Jl 8,800
= 13,200
02 QI A2 AL E R (0IHTHE) 22,000 106, 100 84,100
OX=HIJHE THEHAIE X2
44,000, 0002 *141%50/100 22,000
Jl 8,800
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ool TIdSAE YES U £ECK S4 (cre:xigl)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| = 13,200
AMEMBI SO 2MHIE XA 27,000 15,750 11,250
307 21201 & 27,000 15,750 11,250
02 LB AANHEE 27,000 15,750 11,250
ON&THHHSIH FUHIE XIS
6,000,000 *%ha*50/100 27,000
U=20F 215 HollEs SHAA 30,000 30,000 0
307 elztol & 30,000 30,000
02 2IZHBYAIHE X 30,000 30,000
On+ ASYHS LA
10,0002 *10& *600ha*50/ 100 30,000
ot = 2 HAEHIXRA 98,000 103,500 A5,500
== 22,540
o 75,460
402 2I2E X201 & 98,000 103,500 25,500
< 22,540
T 75,460
02 DIZHAFE A2 X (01 & TH ) 98,000 103,500 5,500
Ol CFZ MAFY| X
196,000, 0002 *141x50/100 98,000
= 22,540
[Ea 75,460
s SESA X 165,000 150,000 15,000
s 42,900
s 122,100
307 @I2t01 & 165,000 150,000 15,000
[ 42,900
Ea 122,100
02 IHB A HE L 165,000 150,000 15,000
OtldE RXIH
198,000, 0002 *141x50/100 99,000
= 25,740
o 73,260
OEES 132,000, 000& *141x50/100 66,000
=S 17,160
s 48,840
10 20F =22 SEEE ANFAY 92,785 181,775 88,990
307 elztol & 80,285 44,275 36,010
02 2B A HE L 80,285 44,275 36,010
OO0 =5EE SHEHAAL 77,275
-2tz WOl WetA|
60,0002 10K 108ha*2&] «25/100 32,400
Ol==% 35,0002 *5000H*25/100 4,375
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
—2ZEC MY =M MEAXEH
900,000 *20E+25/100 4,500
-EAE ZERY XEHIE N
6,000 +10,0002£+2JH A+30/100 36,000
Ostte M7z HA X
215,000 *5621%25/100 3,010
402 QI”F X201 & 12,500 137,500 A125,000
01 QI X2 AL E R (KEMITHE) 12,500 137,500 125,000
OHN=N &8 42X 22SAML
1,000, 0002 *50CH*25/100 12,500
st FIHEXE sIIAXE 4,200 7,000 2,800
s 1,260
s 2,940
402 2I2FXH=201H 4,200 7,000 A2,800
[ 1,260
Ea 2,940
02 QI TH2AILEE (01X THE) 4,200 7,000 22,800
Ostts BEHgXE sI1H X
2,800,000 *3CH*50/100 4,200
= 1,260
= 2,940
GAP OtN e 24 AN 63,120 63,000 120
= 31,560
= 9,468
= 22,092
201 LBzl 30,000 33,000 23,000
= 15,000
< 4,500
= 10,500
01 At2t2lt] 30,000 33,000 /3,000
OGP Ot8 Y Z4AIY 2eltl
30,000,000& » 14 30,000
= 15,000
< 4,500
T 10,500
301 EtE NS 33,120 30,000 3.120
= 16,560
[ 4,968
Ea 11,592
14 JIEt2d= 33,120 30,000 3,120
OGP 15t e SAHl X1
33,120,000& » 14 33,120
= 16,560
< 4,968
[Ea 11,592
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ool TIdSAE YES U £ECK S4 (cre:xigl)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
G s4t2 20 Hel BA2 10,000 10,000

301 LPENZ 10,000 10,000
14 JIEt2 43 10,000 10,000
OSHE S42 01K 2AS
10,000,000& 14! 10,000
ZEtE AL ES ELEZMNEXA 1,800 1,800 0
& 540
= 1,260
307 QIZt01A 1,800 1,800 0
= 540
i 1,260
02 QIRHEAAIHE B X 1,800 1,800 0
OzIEd AIZJNAE ELEE HH &
6,000,000 *141%30/100 1,800
& 540
i 1,260
Foll OFMESE ZEAIE XA 10,080 11,880 21,800
= 5,040
& 1,512
i 3,528
402 IZERH=0IN 10,080 11,880 21,800
= 5,040
= 1,512
= 3,528
02 QIZEXHEAIZ 2 (01 THE) 10,080 11,880 A1,800
ORoll OlMESE ZE AL K&
1,800,000& *7CH*80/100 10,080
= 5,040
= 1,512
o 3,528
QU Mot 22 I 22 4,200 3,500 700
& 1,260
i 2,940
307 QI2Hol ™ 2,100 0 2,100
& 630
i 1,470
02 QIZtBAAIHE X 2,100 0 2,100
ORQC] MaHl 22 I BE3(4a28 M
) 3,000,000 *1A1%70/100 2,100
= 630
= 1,470
402 QI2ERH=0IN 2,100 3,500 21,400
& 630
= 1,470
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 QI X2 AL EE(OIETHE) 2,100 3,500 1,400
ORC| Ml B2 JIXH BSOIBAIE S
) 3,000,000 *141x70/100 2,100
= 630
Ea 1,470
Jlsd g Jlgt =4 25,000 29,100 24,100
== 7,500
o 17,500
402 212+ X201 & 25,000 29,100 A4,100
== 7,500
= 17,500
02 QI X2 AL EE(OIHTHE) 25,000 29,100 24,100
OJISH eaare! Jlg T4
50,000,000 *141x50/100 25,000
= 7,500
Ea 17,500
sttE 2N ME XZA 780,000 1,010,010 /230,010
307 @I2t01 & 780,000 1,010,010 /230,010
02 QB HANSEER 780,000 1,010,010 /230,010
Ostts ZEMW M X
1,560,000, 0002 *14{%50/100 780,000
1SHISAHSF LMY 200,000 200,000
402 QI”F X201 & 200,000 200,000
01 QIENF 2 AL E (XM TH ) 200,000 200,000
OlsHIS NSS4 AI
400,000,000 »141+50/ 100 200,000
‘== RPC(DSC) AIZEHI X 325,000 0 325,000
=S 97,500
s 227,500
402 2I2F X201 & 325,000 0 325,000
< 97,500
[Ea 227,500
02 I T2 AIE EE(0IMTHE) 325,000 0 325,000
OL== RPC(DSC) A&l XI&
650,000,000 *141%50/100 325,000
= 97,500
= 227,500
H s EHME K2 16,000 0 16,000
=S 4,800
s 11,200
402 2I2F X201 & 16,000 0 16,000
== 4,800
[Ea 11,200
02 QI TH2AILEE (01X THE) 16,000 0 16,000
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B =0 A Ast
ol DEX AINKE MM W A=Y S (Shol: % 2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 8,400
s 33,600
402 QIF X201 & 42,000 21,000 21,000
= 8,400
= 33,600
02 QI A2 AL E R (0IHTHE) 42,000 21,000 21,000
Ozletd =sdNEtl 5=
30,000, 0002 +241%70/100 42,000
=S 8,400
s 33,600
=XAIHIDI K& 25,000 25,000 0
402 212 X201 & 25,000 25,000
01 QIIN A EZ (XM THR) 25,000 25,000
OFXAIHD| K&
5,000,000 *10CH*50/100 25,000
s SHEX S 39,000 12,500 26,500
= 15,600
< 7,020
s 16,380
307 glztol & 39,000 12,500 26,500
= 15,600
== 7,020
[Ea 16,380
02 LB HAHE L 39,000 12,500 26,500
OsgIIH SHEX 2R
100,000 x390HK 39,000
= 15,600
== 7,020
o 16,380
=SAUXI| XA 30,000 35,000 /5,000
= 9,000
= 21,000
402 2I2F X201 & 30,000 35,000 A5,000
= 9,000
Ea 21,000
02 QI X2 AL E R (01X THE) 30,000 35,000 /5,000
O=222A=D| KZ A
10,000,000 *6CH*50/100 30,000
s 9,000
s 21,000
NSEH AT DS A 32 84,000 93,333 9,333
= 25,200
= 58,800
307 elztol & 84,000 93,333 29,333

- 127 -




od
i’
oF
uJ

5 R PR B EERE = EEENE
2 | |° S PR S sgs |3
E
D
3 g |3 |3 “BEERE S EENE EEEEE
4 , > > , > 3 Sle|e cle|e S
e 3 o o N m m m N~ 3188 =
uiEd o o -
RIS
S 38 8838383188388 S8S3S3ETSFILETSEIE 888 L1888 8 8|18|18|8 8|88 8
8§ gls sd@edgedgleg &G R IR QIS KK S QSIS IS B BI5|SIs S|S &
r ol — | — |l — — — |~ ]~ —
<
S
iy Iy W H H W M M
g i < o 30 & «
o : = = g -
Y] i 4 S IRV R R g
: g & 2 3
o) ) ~ <
= 8 oy f - -
< 2 = =
I+ & I <
= ~ H 0
= U Ho S 7
oy = 4 = B r
2 i 5 W 3 < 0o\ =
- ~ oo ® ol o o
i < o R i = Koa B )
0 0 < = = % N Ho
X 2 5 © = Rl OO_.% ©
I+ el h 0

- 128 -




A s
B =0 A Ast
ol DEX AINKE MM W A=Y S (Shol: % 2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
301 EtE NS 36,000 40,000 24,000
= 10,800
= 25,200
14 DBt 2 a=S 36,000 40,000 24,000
O=EgdHzad desIt |4
500,000& *72ha 36,000
=S 10,800
s 25,200
sk A THOH ERHHEl X2 2,000 4,500 2,500
301 2eEN= 2,000 4,500 A2,500
14 JIEt2 8= 2,000 4,500 22,500
ODE & BO) SbHl X
4,0002 *1,000%+50/100 2,000
M= oof &cla & =]H X& 13,320 9,990 3,330
301 EtE N = 13,320 9,990 3,330
14 JIEt 2 a3 13,320 9,990 3,330
OM=5& i & =]dl K&
4,000 +6,660+50/100 13,320
NEtA B =22l D=2 AgAMY 250,000 0 250,000
= 175,000
= 22,500
o 52,500
307 @20l & 150,000 0 150,000
= 105,000
= 13,500
o 31,500
02 2IZHBYAIHE £ 150,000 0 150,000
OXMEA B =222l JIs22 ANEAI(E
&) 150,000,000 *14] 150,000
= 105,000
= 13,500
= 31,500
402 2IZtA=01d 100,000 0 100,000
= 70,000
= 9,000
= 21,000
02 QI A2 AL E R (01X THE) 100,000 0 100,000
OMEA B =222l JIs22 AEA (X
2) 100,000,000 *14] 100,000
= 70,000
= 9,000
= 21,000
N B =22 eE8 UsSEE 10,000 0 10,000
= 7,000
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B =0 A Ast
ol DEX AINKE MM W A=Y S (Shol: % 2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 7,630
s 17,830
307 lztol & 25,460 26,040 2580
= 7,630
= 17,830
02 2IZHBYAIHE X 25,460 26,040 A580
OB L0l NI
420,000 121.235ha*50/ 100 25,460
=S 7,630
s 17,830
sletd & I XA 3,000 3,000 0
307 212+01& 3,000 3,000
02 B HAHE L 3,000 3,000
OnBZ ¥ TR N
5002 *12,0000H*50/100 3,000
RIs2E HUE At wsk2 3,200 4,000 A800
= 960
[Ea 2,240
307 gl2tol & 3,200 4,000 2800
=S 960
s 2,240
02 QB AANEER 3,200 4,000 A800
OSII=0IE SHUE I8t Abl, 22 X9
4,000,000:& *141+80/100 3,200
== 960
= 2,240
RIsE XM X2 79,088 39,628 39,460
= 31,635
< 14,236
= 33,217
307 elztol & 79,088 39,628 39,460
= 31,635
== 14,236
o 33,217
02 LB HAHEE 79,088 39,628 39,460
OSIISATM X2
188, 175,000 *141x50/100 79,088
= 31,635
s 14,236
s 33,217
RIsSe+79 =4 73,733 0 73,733
== 22,120
= 51,613
402 QI>F X201 & 73,733 0 73,733
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ol DEX AINKE MM W A=Y S (Shol: % 2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 4,608
=S 1,382
s 3,226
H ST X 255,965 269,437 A13,472
< 76,019
= 179,946
301 EtE NS 255,965 269,437 13,472
= 76,019
= 179,946
14 DBt 23 255,965 269,437 A13,472
OBl SEETH X
255,965,000 * 14 255,965
= 76,019
o 179,946
SAXNEH At 22l 68,640 68,640 0
Jl 68,640
101 @124H| 65,640 64,140 1,500
) 65,640
M ORINZZ2NSE S 65,640 64,140 1,500
OSAUM=EM AIREXH
65,640,000& x14] 65,640
Jl 65,640
201 el 3,000 0 3,000
Il 3,000
01 At 2|l 3,000 0 3,000
OS3AXMEM At =TH(A2E 7Y)
3,000,000& *14] 3,000
Jl 3,000
JI2E SAX=EMN NE 14,966,000 14,125,000 841,000
Il 14,966,000
301 EtE NS 14,966,000 14,125,000 841,000
Jl 14,966,000
14 JIEt2 8= 14,966,000 14,125,000 841,000
OJl2g SA8=M AE
14,966,000,000& x14] 14,966,000
Il 14,966,000
H MHiHsE ol BS I XA 274,860 298,700 N23,840
< 274,860
301 EtE N = 274,860 298,700 A\23,840
S 274,860
14 IIEt2 8= 274,860 298,700 A\23,840
OH Miisgel 2erd K&
274,860,000 * 14 274,860
= 274,860
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ol DEX AINKE MM W A=Y S (Shol: % 2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
B Mihsot ASHES 912,500 912,500
301 LEtE N = 912,500 912,500
14 IIEt2d3 912,500 912,500
OBl M=t ASHES(XHA)
250,000%/+3,650ha 912,500
s =t 2SS 96,300 84,400 11,900
s 28,890
s 67,410
402 2I2F X201 & 96,300 84,400 11,900
< 28,890
Ea 67,410
02 QIZHXHZ AL E (01X THE) 9,300 84,400 11,900
OgsJlHet gHlEs
192,600, 0002 *141x50/100 96,300
= 28,890
o 67,410
StHE0F sEEE AL 35,625 30,625 5,000
307 @20l & 5,625 5,625 0
02 QB HANEER 5,625 5,625 0
OF&Y 5%E N
450,000& *50CH *25/100 5,625
402 BIZtAH=01H 30,000 25,000 5,000
01 QI X2 AL E A (KHMITHE) 30,000 25,000 5,000
OsgE LI NEFAS
1,500, 0002 *B0CH*25/100 30,000
3 == JHE N 50,000 0 50,000
= 15,000
o 35,000
402 2I2F X201 & 50,000 0 50,000
== 15,000
o 35,000
02 RIINEASEZ(0IETHR) 50,000 0 50,000
O= =& JIJst X
100,000, 0002 *1CH*50/100 50,000
= 15,000
= 35,000
sSIH SE2E X2 180,444 154,700 25,744
= 54,144
o 126,300
301 EetE2 N = 180,444 154,700 25,744
s 54,144
s 126,300
14 0Bt 2a s 180,444 154,700 25,744
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